TPUT ET. ConNnl. Tine -
AR oF TOTo RIAC (ovTrT eilgs Tt O ‘e Srsreny

Clueh i A) SrsTet S Recriee

Vin Vout

O O

Z) Upca . &t = A0 N=Tooo
“u

7



St onve: Iove—  SrsTeq

IR+ or = Jet ig /'.OYT =<
BEEN

¢

loat IR = /‘—'-(-Ic-

Ly =7 A
iL\L — \L c e@J—L+R< ’
= @ (g Rey==r 2

R’L-QRIC.:‘?’.(_L«

: - o/

R'5R=- "(7-‘“) drl:‘?/{-“'?
L2ty —
‘C%Cm = —(o-y) =y mf\
Z i =—§7,é(0“7)c T 7c
==tor (%)

KC_“' -+ ) ~[—@ =
ONY <Toro %p)/ . s _

PARS Canr Qe (Do Fisn |




ay+ yrby =-
o TesT+by =sU

Skt St AU AT oS (N

6=

o= 4
%l

TeAd

T
v

—
—_—

I

G Cs)



N A
2 A% \/é& [K L =< [R
Rezace: 07 o
ALY Y] PREDICT o  hapEl H [5 J b‘\ ( Y /"")
GCev - LS Firtrrus Fow h(cj/b‘} \7 . ,«65[(,3)
é:; = ﬂLU "";\ /l /‘c,SCé)/(ZZ (ks.j [57""°~1L'-.>
ATTeNTowm /'\1147’/4—4
Hov Cermny 65,(% ? 'C;’ﬂ%EfZ
Iesies 25 = coy (6. G; @ ()1 c@)
1
j[é): 911(@} = |y < lIres C& 12 >
2E NS




M7

=X EWces




(ortdlispas Tt J&3es

A= R.-C = 2%
L‘i /("L.'L/
— % —_ = /10000
C=23 nl= .
R =“1p .h)
Lo GoT : o= O.0o0252 + O.0obox = T1Sz2o + %o

L = 100 OLp + Voo

7
60%5'- 7Y 8 R =100 I .

1)



